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— obwn yawsh H15% WK AYEw 2R 9N
And whoever is obligated to swear and does not swear; pays

OVERVIEW

XaX " ruled that whenever one is obligated to swear (in order to avoid payment)
and cannot swear to clear himself he must pay. ms01n discusses when this rule is
applicable and when not.

— *Aawun Y DN%IY DITIUN 1IN (v 'x,m 47 meaw) PYIVIN 93 P93
The mw» in Ppawis 9o pao states, if they are both suspect on taking an oath,
the rule is -
—"12191n5 9N 25095 %391 NI 39 5937 NMIPNRY NAY NN
The oath returns to its original place, this is the view of %'%, while 3"9
maintains that they divide -
— nY 2nnnY NNYPNRY XA 39 SUNIYS YINIY 1929 0NN YN
And °»X "1 there explains that the (X28 '3) 3"'X2w 1°n121 interpret that which »"9
ruled 2p1% 7w 7710, to mean, to the one who was initially obligated to take
the oath; meaning the mY, and since the MY cannot swear since he is 72awn %y 7wn (and we
cannot make the m7n swear since he too is 2w 9¥ Twn), therefore the M% must pay everything
the M%7 claims (in following with the ruling of n"?xwn).
— NaN 291370 12297 PHYAYT TN 0NN 2NN
And X955 27 there cites from our X°x2 that 12°M29 is referring to XaX '3, who rules

here in this case of X"J7 X201 that 22Wn Yaw s 7127 1KY TINA.
— NaN 753495 159 159 y91905 Y019 5395 12y 'NTAI Y0 5295 BNN POOT JNINI 29 RAYM)

" The mwn is on X,n.
% The rule of a n¥pna 77 is that the ¥an1 (the MY) swears that he owes no more than he admits, pays what he admits
and is exempt from paying the rest (this [Xn»87 nyaw] is referred to as a "won yaws). If the n"2m was a 5y Twn
7yawn (he was a confirmed 1713, for instance), the rule is that the m%n swears that he is owed the full amount and
collects the full amount (this [13277 712w or mwna Nyaw] is referred to as a P yaw1). The question arises what is
the ruling if both the m%n and the m? are av1awn Yy own.
? In the 73w the X013 is the opposite 1171 2 1"; however in the X113 the conclusion is that 112 K ",
* In the case of a »"2m where the > claimed he did not owe twenty 11 (for instance), he would have to pay
whatever he admitted plus an additional ten 11 (half of what the m>n claims and the M7 denies).
> The n"2n Mt amends this to read, TPR9T PR, deleting the words Xax .
6% 1 there also states that 923w 1°n127 (referring to XMW1 27) maintain that 7mP»? "YW 7717 means that it returns
to °1°0 (and the M? need not pay since both parties are 0>77wn). It is apparent that PXvw1 21 disagree with the concept
of 2Pwn yaw> 7137 1RW TIN7 (in this instance).
" The n"a7 M amends this to read, °270 X721V 7231 "OY°.
¥ »"5 (and therefore 1" also) apparently does not subscribe to »">*Xwn; otherwise he would rule that the > is 2.
? Others amend this to XX "7 (instead of Xax 7).
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So now that 3211 19 ruled there like >''1 and enacted a judgment according to
>0y ' that the parties divide the disputed amount, 1"7 does not agree with XaR '3
(for if he would agree with Xax " that n"2°Xwn, the M? would have to pay everything).

nooIn asks:
— loﬂ‘mﬂ NN HINIVAT NI9)A (0w 3,38 97 xoen xa2) IRIYA D992 19999RT PNYY 139299 AYP)

And the "1 has a difficulty, for the X3 states in ®Xm;7 P15 concerning the X723

of ;17577 PR DRWYST -
— 9909 ¥197 2N MIN DTN T2 59 N3N AINT NI 297 NP MNNON NIOY

Shall we say that the 73w» of 719977 NR 2Xww1 is a refutation of 1''9 who maintains,
if one says, ‘you owe me a 71%’ and the other responds, ‘I do not know’, he is

MWD from paying, this seemingly contradicts the 71wn, which rules that ¥71° "X is 217 -
— 15393 NAY POY YIYA PPNOINN 51U
And the X3 there answered that our ;73w (which states that the 12W/5RW is
2>1), is discussing a case where there is an involvement of an oath between the
parties —
— Y199 29N DOWNNI DIYNN RIN 792 1Y PR 9N NN 7992 D N1 N29 9INT X271
Like 829, for 829 ruled, when a m°» claims, ‘you owe me a 7% (a hundred 17)
and the mM> responds, I certainly owe you only fifty 17 and regarding the

remaining fifty 117, I do not know whether I owe you or not’; the ruling is -
— 5N 395 139 YUN YAYWIY 9199 1INRY TINN

Since he cannot swear (as a N¥pna 717n), he pays, which is in accordance with '3
N2N. This contradicts what 19010 stated previously that 1" disagrees with Xax .

mooin replies:
— NAN 729 U991V 1223 9NN 293 PNNHN 13",71)3‘1 1313 297 9139139 NN 1)

' The mawn there mentions a case where an owner lent one cow and rented out another cow to the borrower/renter.
One of the cows died (this is considered an 02 for which a YR is 217 and a 291 is MWd). The owner claimed that
the borrowed cow died and therefore the borrower is liable to pay, however the borrower/renter claimed that he is
unsure which cow died (it is possible that the rented cow died and he is 71o). The 71wn ruled that he is 2. This
contradicts the view of 1"7 who maintains 7°7¥ >32 8% 811 *72 and that ¥7v *1°X is 709,
"' The owner actually gave him three cows; two were borrowed and one was rented. Two of the cows died. The »xw
admitted that one of the dead cows was borrowed (and he is liable for it), concerning the other cow there was the
dispute where the owner claimed it was the borrowed cow and the ?Xw was unsure, for it may have been the rented
cow. The %R W is now a n¥pna 771, for he admits that he owes for one cow, so he is a yaw>> 212° 1°R) 312w 201, for
he is unsure regarding the second cow, therefore we apply the rule of n"?Rwn.
"2 The question is how can we reconcile 1" with the 73wn by stating that the 7wn is a case of n"Xwn, since 1"
argues with this ruling and does not subscribe to n"?°Xwn as stated previously in this o0 (see footnote # 8). See
‘Thinking it over’ # 3.
13 Others amend this to read P (not >PnT).
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However, it is possible to say that 1''2 establishes that maw» in HXwn (which

maintains 1"?°Xwn) according to »''9, as X2k '3 interprets 1°xn ', namely that 77
79 2Mn% AW and n"PRWH -
— 5D %399 730 NN

However 1"7 personally agrees with 0y 'S who maintains > (in a case of 27w
o7wn) and does not follow the ruling of n"?Xwn.

In summation; it is apparent from the case of 2>7Wwn 02w that XaR ') maintains that n"9°Xwn (and
accepts the ruling of »"9 that 7% 2112 (7MpPnY?) Avaw 737m, and 1" rules 27 like "0 ' and
(seemingly) does not follow the rule of n">xwn.

nooIn asks:
— NAN %295 NNAYNYT ¥RUN PHYNYAT YD MY YaN

However there is still a difficulty, for in our X219 it appears that the ruling is

like RaR '3 that »n"2°Xwn; this is apparent -
— NAN 5297 XD 19507 9539 HANT 139 1329 M0 1S MNPT

Since the X n3 states that the 3129 who were sitting before »ax thought that the
case before them (regarding the X"¥ and two years) is the same case as '17 Xo®1

RAN and should have the same ruling; indicating that the ruling of XaX " is a proper precedent,
and even when »2X rejected their comparison to X"27 X201 -
— 919 NAN 2299 N7 IN NIN 1) 9N

Nevertheless °2X also told the 1127, ‘however if there is a case comparable to

the case of R''97 X201, etc.’; it is a different case. In any event the fact that we are comparing

cases to X"7 X201 indicates that the ruling is n"2°Xwn as X" ruled -
— 553573 1N 295 )9 XN DIPN 593

However, it is established universally that the 172%77 is like 1" in monetary

cases, and 1" rules like °01° " that we say 21 and (seemingly) not »"?°&wn! How can the
ruling be like X" that »"?*}wn and like 1" that 172!

mooIn asks an additional question:
— INIIYI 29 Y9N DININN 11 DININS *3) “annt nnen

And it is additionally astounding, for there (in nw2w noon) regarding the
orphans (of the m%n) who wish to collect from the orphans (of the mY), 21 and
bRINW state -

'* Others amend this to read X1
15 X, N0,
10 %, My,
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— Y ayyaw mY 5339 19 2NN 129 MYN Na MY N ONT
That if the 7> died during the lifetime of the m'9», the mb» already owes a

7w to the sons of the %, and now that the m%» also died (after the m?) -
— PANIN VD PIWIY 19192 PYAINA PRY TN 9325 AaY WM DTN PR

So a person cannot bequeath (the rights of) an oath to his heirs, so since the
claimants (the children of the m%») cannot swear, therefore the respondent (the
m>7 °nnY) is exempt from paying -

— 195099 DIWAN NINAY PYAYI PYIN INIRDI (x,nn [menav] (o) T 1PTY 19 ATYIN 52
And 7198 "1 argues with this ruling of X121 27 and maintains that the 3w+

swear the oath of the 2’291’ and collect from m>7 nn> -
— ¥aNN BYYN YANN IN YN IN YWY 5199 19XV PINNT INAN 2399 1999

And that ruling of 215X " that P01 121 Pyaws is according to Xax ' that since
neither the claimant not the respondent can swear (the proper oath) the yan
pays -

— 4aY 9TYIN 299 TaT TaY ININYIY 299 1Ay Fonn prom
And x99 11 concluded there that whoever ruled like X2 21 ruled properly

and whoever ruled like =3¥»X ' ruled properly. There seems to be an inherent
contradiction in the ruling of »"?&wn, since we can follow either 71v%X "™ who agrees with this
ruling (like XaR "), or we can follow R 27 who disagree with this ruling (like 1").

n90IN answers:
— NI¥12 NAN %292 929 99V 12N) 297 0N 13’29 V99

" If the 779» would then want to collect from the children of the >, he would be required to swear (that the m> did
not pay him and he is owed the full amount claimed in the 7vw) before he could collect from them. The rule (cited
previously on &,3?) is that 7912w K2R ¥19° X? 0¥IN° 20211 ¥19°7 K21
'8 This right, which the mb» had that he could collect o°»n® °031 with a 7312w, cannot be transferred as an
inheritance to the children of the m%a. The m>n would have sworn that the 7% did not pay him, however the w1
91 cannot swear (with any certainty) that the m? or his heirs did not pay the m>»n. The m>» "»n> have no right to
collect m? "nn> *031.
1 Others amend this to %19y.
2 The WA N is that the children of the 7171 swear that their father (the 71%1) never told them that the loan was
paid up.
I mpoIn is teaching a new concept in X2 . The rule of n"9*}wn is not only if the ¥an1 cannot swear, but even if the
¥ cannot swear, the ¥an1 must pay. This (seemingly) is the only way to explain the ruling of 71y ' that the pwn
are PHLMN PWIY DAY Pyawl. Seemingly one cannot collect from om0 unless the M7n swears a 731w that he is
owed the money. In this case no such 7¥12w is being made and nevertheless the m>7 *»n” have to pay. This indicates
that whenever there is a 7¥12w 217, it really means that the ¥an1 has to pay. In some cases he can avoid paying by
swearing, in other cases he need not pay unless the other party swears (if he can swear). However if for some reason
the ¥2n cannot swear the ¥an1 must pay. [The 131277 712w of 120111 Pyaws is merely to appease the mind of the vans,
but not that the ¥2n1is 7105 unless there is a 7y12w.] See ‘Thinking it over’ # 1.
29 m.
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And the n''9 explains that 1" readily agrees with X''9 regarding X201 -
— P79 90N DOWNNY DIWNN NIN 792 T2 PN 19D 99N) 7792 5D ¥ NNy
And he also agrees with X"9 regarding where the m>» said, ‘you owe me a 7%
(one hundred 171) and the M7 responded, ‘I certainly owe you fifty, and regarding
the other fifty, I do not know’; in both these cases 1" agrees with X" that the ruling is
n"IRwnN -
— Y2190 9N YD)% 5393 1ANI 29 PIV PHVYN DNIYA NPIT
And 1" ruled like >'"1 who says 12721 (and not 2"7°&wn) only specifically in the
case of PTwWwn amw -
— %0 %295 NAYNT 1IN 2297 NN PTHIYN DY NAN a9
And Xa8 ' will agree with 1" that by 2o7wn amw the 172557 is like "9 (that

171 and not n"°RwN) -
— Pygnn 091 7950 HYN NYAY 299 1139V 1350371 DIVMD RAYVD)

And the reason why by 2>71wn om°w we say 12> and not 2"2°Xwn is because we
fine the opposite litigant (the m%n) since he (too) is a 7wn and therefore he loses

half (and does not collect the entire debt as he would have if we ruled n"?xwn) -

— YYN YUY 9199 199X AMAY 29N Pxnvya van
However elsewhere (not in the case of 2>7wn o°1w), if he is a 1ORY APIAW 297H
paws® 9129, the yani pays.

In summation: Generally in most cases 1" X" agree that the ruling is n"?°&wn. The exception is
where 7¥12w7 %Y PTWn 07w where both 1" X" agree that the rule is 191 (like °™), for we
fine the 17210w since he is nawn v wn.

mooIn responds to an anticipated difficulty on the assumption that by 2>7Wwn oiIw even XaR "
maintains 171

— NaN 229 HNIY) NINIY 1PMI9T 0NN YINPT XD
And that which °»X 27 stated there (in N1¥12w 'on) that 3'"'Raw 119029 refers to '

N2R; that according to XaX " when n"1 said regarding o>TWwn 07w that PR avaw 7710 he
meant 72 217 YW TI0 -

— 49N 295 1Y 92D NAN 2297 9199190 IND
"mX 27 did not mean to say that X' agrees with »''9 that by o>mwn omiw the rule is
n">Rwn, for MooIN just now concluded that by 7w on°lw both X" 1" agree that 2171 (like
the ruling of *0v "7 and not like n"9) -

* The yan1 also loses half, for he too is a Twn; they both share the loss equally. See “Thinking it over’ # 2.
* For instance in a case of X7 X2 Pwnm X1yT Pwnan or by X"77 X203, he would pay.
 See previously in this Moo by footnote # 4-6.
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— 0YWN YawrY D192 1IRY TINNT 920 NNDYA NAN 2297 1199 PTT NON
But rather X "1 inferred that since XaX '3 generally maintains 2'"99Rw» (as we

see by X7 X2012) -
— %15 25015 NPAY NIINT RN 5397 DN WIDN IINT MY 19 1N

We can say that XaX "7 would interpret the statement of »'"9 of 7yaw 77N

TMIPAY to mean 579 aMmRY IIAW 1M, but not that Xax " agrees that in the case of oW
17wn the rule would be n"xwn -
— NODY NAN %299) DIV NI 1IN) %295 NaYM

And the 7297 is like 11 by P7wn amw (that we say 127 [and XaR "1 would
agree]) and the 7577 is like X' by X291 (that »">*xwn [and 1" would agree].

NvOIN cautions:
— 72y TYIN 2299 TaYTH 27‘129 HNINYI 299 1a¥T 192P 0N DN NPT

And it is specifically only by 207 12 20> that X995 27 concludes that
whoever ruled like %X1w 27 (that the 0210 are w9 and we do not say »n'"?°Xwn),
ruled properly and whoever ruled like X8''= (that the m5» "nn° swear W17 NVIAY

and collect from M%7 nn> [for we do say n"2°xwn]) ruled properly; it is only in the case
of 2mn°7 11 o°mn° that there is this leeway not to say n"2°*Xwn, but not elsewhere -

— nYy POINY YT 12N Nt
As 1111 27 states there, prepare yourselves not to add on to the ruling of x1w1 27
that since 1°12% 7312w W 2R PR, the MY "0 are Mo and we do not say »n"2°Rwn. That rule is
limited only to 2n°77 1 M0, however in (all) other cases the ruling will be n"?Rwn (except
for o>1wn 01w where the ruling is [>0v 5] 21%m).

mMooIN anticipates an alternate explanation regarding 1"7 and rejects it:
— NAN Y397 DIV Y1905 9ANT NI 397 RNPYV Y995 PR Yax
However, one should not explain the reason of 1" who rules y»¥m by omw

27w is because (he agrees with X''9) -
— 199999 1PN APAY 022NN 179995 1DIND 1YY MN DINVYN DNNIYT 1194

%% The reason it is necessary to assume that XX ' interprets 2" to mean ;7% 2% 712w 77, for if "7 means 771
107 7y1aw and the vani is 7o (see footnote # 6) that would contradict the view of XaR " that n"9xwn. We cannot
say that Xax "1 holds like *01° " (who rules 217217°), for that ruling is because of a 01p as NN mentioned previously
(see footnote # 21), but not (necessarily) because of n"7?°&wn, it could be just a 017 on the yan1 who is really 7o, We
would not have a Xin who agrees with »n"2°xwn. Therefore it is necessary to say that Xax "3 agrees in principle with
n'"1, but not necessarily 737777, because he maintains 11717 since we give a 01p to the yin.
2 By o°min> we are lenient and rule 72y Xww3 275 7297 (and the om0 are 7o), out of concern for the o°mn2, but
otherwise we rule n"?°Rwn.
2 5 mn nynw.
% The n"a7 M7 amends this to read, 11937 DWR PPN KT 1717 RAYYT WO, omitting the words Xax 7.
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Since they are both 2°7vwn, it is considered as if both parties are 72w 20

and they cannot swear -
— Psgn 1091 AN 99 7950

So therefore they each lose half -
— *u5m 05YN YAWIH 9195 PRI YANIN Y NMAY 9DOPT 199 920 NAN 229

And R'' maintains that since the main 7712w was initially on the respondent,
and he cannot swear so therefore the ¥an1 pays everything —

Mmoo explains why he rejects such an interpretation:
— D)5 11 DN’ ININYI 299 929 920 181 1IN 291 NAN 329 15 ONT

For if indeed this is so (as no0In suggested that n">°Xwn means that whomever
cannot swear, loses) then 1" X"9 can understandably agree with X2y 29
regarding the case of @257 3% 292037 that the MY *an> are MWD -

— 155193 JIR) YAWIY 199195 PRT 1159 1151 533 PTIOOM NN N MY NN 95
When the m> dies in the lifetime of the mb%», so the children of the %2 lose,

since they cannot swear (that the M% owes the money) so they do not collect -
— TIVN NXIN DIYI 5V 1IRY 8NN NINAYN JY TIVN 11OV TI091IY 1D

Just like in the case of 2°7wn 0771w where if the 17312 (the m>n) is ayaws v ™wn

he loses half, which he cannot collect when he too is a T"Wwn. The difficulty in
assuming that 8"71 1" can agree with XMW1 27 is -
— NONDN U9 ¥OUM (x,tn 91 menaw) PYAYIN I P992)
Because in PPyawis o pap the entire X 310 seems to say -
= NAN 297N 1903 299N 199 HNMIWY 294
That X121 29 argue with 2" and X'~ -
— %M1 295 199 XaN Y3997 Th99 9¥ 9315 7098 Pa7
And therefore perforce you must say that according to X''% and similarly 2''1 -
:PmYr9a7s ¥yanin 05w ¥aINn 19998 YaWsY 1195 119RY TINN

0 This is different from the explanation that Mo offered previously that 1"7 (and X"1) maintain that we fine the
17315 for being a TWwn (see NdOIN by footnote # 23).
! See X" that Moo means to say that Xax ' according to »"7 will maintain that 577 o>wn yanii. According to
this interpretation the ruling of »"9®w» means that whoever has to swear (whether the ¥ or the van1) and he
cannot swear; he loses his rights. The argument between X" 1"7 by P7wn 0w is that 1" maintains that both have
to swear and therefore each loses half (21717°), while X" (according to »"9) maintains that the 712w p°Y is on the
¥an1 and he loses everything.
32 In the case of m9n »ma M N1 the T must swear in order to collect from the 2mn° (there is no 7¥12w 2°1 on the
o'min). Therefore since the m>n [who is required to swear] and his children cannot swear, therefore they lose
everything and the o> are Mwd. This would be the ruling (even) according to 1"7 X"9 if we would follow the
reasoning that whoever cannot swear loses (see previous footnote # 31).
33 The 0"wna nMon amends this to read 19 oX (instead of 3"y7).
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That since if [even] the Y30 cannot swear the ¥ani has to pay as I explained.

In summation; According to the n"3 "o the rule of n"?Xwn is that the ¥anl must always pay if
either the ¥y 0 or the yani cannot swear. Therefore by 20’1 1 2n° the rule is (according to
X2X "1 1"7) that the omn° pay. Regarding 2>71wn 071w the rule should seemingly be that the yani
should pay, however X" 1"1 rule %1 (like *01 ") because we fine the ¥y for being a Twn.
However, according to the w197 X, the rule of »"»Xwn is that whoever cannot swear loses.
Therefore by o 71wn omIw we say P12, since both cannot swear they each lose half. By 12 ooine
o since the (71917) "N cannot swear, the M%7 "nn° are Mo (which is the ruling of YR 27
but contrary to the ruling of X"=11").

SUMMARY

n"2Xwn means that the ¥an1 always pays when either the ¥21n or ¥2n1 cannot swear.
1"7 R"7 agree by X001 that n">°®xwn. They agree that by 2*7wn 071w the ¥an1 pays
half because we fine the ¥y21n for being a 'wn. By o071 12 2210 they both agree
that the m>7 > pay for n">Xwn. However 2R 21 argue and exempt the nn
M%7 for they do not maintain »"?°Xwn (as explained by the n"1). By 0201 12 oo
we say T2y YYR "2 72T 72V HRIMWIY 272 72T, since it is 7N but 79V 7012 RDT 127,
in all other case we rule n"?°Xwn.

THINKING IT OVER
1. What is the logic that if the ¥21n cannot swear, the ¥an1 must pay.*® This seems
to contradict the 2"27 in the previous > 7"7 'on. ™

2. Why is it necessary to say that X"9 agrees with 1"7 regarding o°71wn 07w that
the rule is }2191°?*° Why cannot we say that 8" argues and maintains n">°Xwn and

** The ruling of »"9*}wn is not that if the person who is required to swear and cannot swear that he loses, but rather
the one who has to pay must always pay unless he is protected by an oath, whether he has to take that oath or the
y21n is required to take this oath. If however because of circumstances the oath cannot be taken (either by the yani or
the yan), the rule is that the ¥an1 must pay. Therefore by 0n°7 13 2°mn° even though the M> *an° are protected from
paying unless the m>n swears; however, when the M7 cannot swear (because he died) the on> must pay (not like
SR 27). By o'mwi o, however, even though the ¥ani should pay since n"72°&wn, nevertheless there is a 01p
imposed on the ¥y2n since he is a Twn, and therefore the ruling is 32721 (they both lose half, for they are both
awn).
* See footnote # 21.
% See footnote # 21.
37 See there (x,7%) footnote # 15.
¥ See v M "o,
* See footnote # 23.
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he does not agree to the 0ip. There will be no contradiction for there is no
indication that Xax '3 71597 by anwn amaw.*

3. Can we differentiate (regarding the rule of n"?°Xwn) whether we are discussing a
case of Xiy7 XY PWnmM RWT Pwnn [where everyone agrees41 that 73"5’?«27?:)],42 and
other cases such as PTwn 7w of ™ » 1PN, etc. [where there are
disagreements whether we implement n">°Xw», or not]?*

% See n"m.
I Hxmwy 21 (for instance) would maintain (even) by X1y7> X2 Pwnm w7 1wnn that the vani is 7ws, there would be
some difficulties; why is not a regular 715 »"2m from a Ay12W, since he has a 1» that he could have admitted the
same amount and regarding the remainder he could have claimed *ny7> X7. Also why would not every n"2m claim X?
ny7 on the part that he denies instead of denying it which obligates him to swear or pay. In the case of X7 Pwnn
R1YT* X7 1Pwnm there is an actual Xn»RT 7y12w 211 exclusively on the ¥an; unlike by 1mn°1 11 PN or PIWN DMPIw
and R"17 Xo01, where currently there is no 7¥12w 211 on the ¥an1 exclusively. Therefore X7 °XY Pwam RWT Pwnn
should perhaps be treated differently.
2 See footnote # 12.
3 See (end of) Tin 7" X,IH AW MOOMN.

9

TosfosInEnglish.com



